Whitman College 
Econ 308 
Exam 2 
April 10, 1998 


Write all answers in your bluebook. Show all of your work. 



1. Suppose that the labor force is fixed at 85 million people, of which 5 million are currently unemployed and 80 million employed. Suppose that the annual rate of job separation s= 0.01 and the annual rate of job finding f=0.12. 

(a) (5pt) What is the natural rate of unemployment for this economy? 
(b) (2pt) What is the current unemployment rate? 
(c) (3pt) How many people will lose jobs over the coming year? How many unemployed will find jobs over the coming year? What will the unemployment rate be at the end of the year? 


2. Assume that the classical quantity theory of money holds. Suppose aggregate output grows at a 2.3% annual rate. 

(a) (5pts) If the money supply grows at the rate of 3.3% per year, what will the annual inflation rate be? 
(b) (5pts) Assume that the real interest rate is 2.1%. Suppose that everyone knows that the money supply will grow at 3.3% per year and that output will grow at 2.3% per year. Use the Fisher equation to predict the nominal interest rate. 


3. Suppose you have a friend who is confused about the concept of a multiplier. In particular, he does not understand how the money multiplier, the expenditure multiplier, and the tax multiplier differ. Thoroughly explain to your friend what each multiplier is, how to derive each multiplier, and what each is used for. For the money multiplier, assume an economy in which people hold some currency, banks hold some excess reserves, and there is one kind of deposit (a transactions deposit). 
(a) (15pts) Money multiplier 
(b) (15pts) Expenditure multiplier 
(c) (15pts) Tax multiplier 


4. Suppose the economy is producing output above the full employment level. 

(a) (5pts) Define full employment output. 

(b) (15pts) Assume this economy is closed. Describe fiscal and monetary policies in the IS-LM model which would return the economy to full employment. Thoroughly explain, with reference to an IS-LM graph. 

(c) (15pts) Now assume that the economy is a relatively small open economy which operates under a flexible exchange rate system with perfect capital mobility. Describe fiscal and monetary policies in the IS-LM model which would return the economy to full employment. Thoroughly explain, with reference to an IS-LM graph.
